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[  ] 10 [  ] 8 [  ]

23 INT (10 8 ) = INT ( 1.25 ) = 1 

[ MATH ] [ MATH ] [ MATH ] 
[  ] 

[  ] 10 [  ] 8 [  ]

24 SGN ( log 0.01 ) = SGN ( – 2 ) = – 1 

[ MATH ] [ MATH ] [ MATH ] 
[  ] 

[  ] [ log ] 0.01 
[  ] 

25 ABS ( log 0.01) = ABS ( – 2 ) = 2 

[ MATH ] [ MATH ] [ MATH ] 　
[  ] [  ] 

[  ] [ log ] 0.01 
[  ] 
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26 7 !  [ ( 7 – 4 ) ! ] = 840 

7 [ MATH ] [ MATH ] [ MATH ] 
[ MATH ] 

[  ] 4 [  ] 

27 7 !  [ ( 7 – 4 ) ! × 4 ] = 35 

7 [ MATH ] [ MATH ] [ MATH ] 
[ MATH ] [  ] 

[  ] 4 [  ] 

 Example 32 

�  

1.25 [ 2nd ] [ X –1 ] [  ] 

28  

2 [ X 2 ] [ + ] [  ] 4 [ + ] 21 
[  ] [ + ] [ 2nd ] [  ] 27 
[  ] 

29  
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4 [ 2nd ] [  ] 81 
[  ] 

30 7 4 = 2401 

7 [ 2nd ] [ ^ ] 4 [  ] 

 Example 33 
� 1 yd 2 = 9 ft 2 = 0.000000836 km 2 

1 [ 2nd ] [ CONV ] [ 2nd ] 
[ CONV ] [  ] 

[  ] 

[  ] 

[  ] [  ] 

Example 34 
� 3 × G = 2.00177955 × 10 –10 
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3 [ × ] [ 2nd ] [ CONST ] 
[  ] [  ] 

[  ] [  ] 

 Example 35 

� Apply the multi-statement function to the following two statements: 
( E=15 ) 

    

15 [ SAVE ] [ E ] [  ] 

[ ALPHA ] [ E ] [ × ] 13 
[ ALPHA ] [  ]180 [  ] 
[ ALPHA ] [ E ] [  ] 

[  ] 

[  ] 

 Example 36 

� Graph Y = e X 
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[ Graph ] [ 2nd ] [ e x ] 

[  ] 

 Example 37 

� (1) Range : X min = – 180, X max = 180, X scl = 90, Y min = – 1.25, Y 
max = 1.25, Y scl = 0.5, Graph Y = sin (2 x) 

[ Range ] [ ( – ) ] 180 

[  ] 180 [  ] 90 [  ] 
[ (–) ] 1.25 [  ] 1.25 [  ] 
0.5 

[  ] [ 2nd ] [ Factor ] 2 

[  ] 2 

[  ] [ Graph ] [ sin ] 2 
[ ALPHA ] [ X ] 

[  ] 
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[ G  T ] 

[ G  T ] 

 

31 (2) Zoom in and zoom out on Y = sin (2x) 

[ 2nd ] [ Zoom x f ] 

[ 2nd ] [ Zoom x f ] 

[ 2nd ] [ Zoom Org ] 

[ 2nd ] [ Zoom x 1 / f ] 

[ 2nd ] [ Zoom x 1 / f ] 

 Example 38 

� Superimpose the graph of Y = – X + 2 over the graph of Y = X 3 + 3 X 
2 – 6 X – 8 
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[ Range ] [ (–) ] 8 [  ] 8 
[  ] 2 [  ] [ (–) ] 15 [  ] 
15 [  ] 5 

[  ] [ Graph ] [ ALPHA ] 
[ X ] [ 2nd ] [ x 3 ] [ + ] 3 
[ ALPHA ] [ X ] [ x 2 ] [ – ] 6 
[ ALPHA ] [ X ] [ – ] 8 

[  ] 

[ Graph ] [ (–) ] [ ALPHA ] [ X ] 
[ + ] 2 

[  ] 

 Example 39 

� Superimpose the graph of Y = cos (X) over the graph of Y = sin ( x ) 

[ Graph ] [ sin ] [  ] 

[ Graph ] [ cos ] [ ALPHA ] [ X ] 
[  ] 

 Example 40 

� Use Trace function to analyze the graph Y = cos ( x ) 
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[ Graph ] [ cos ] [  ] 

[ Trace ] 

[  ] [  ] [  ] 

[ 2nd ] [ X Y ] 

 Example 41 

� Draw and scroll the graph for Y = cos ( x ) 

[ Graph ] [ cos ] [  ] 
[  ] 

[  ] [  ] 

[  ] [  ] [  ] [  ] 
[  ] 

 Example 42 

� Place points at ( 5 , 5 ), ( 5 , 10 ), ( 15 , 15 ) and ( 18, 15 ), and then 
use the Line function to connect the points. 
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[ Range ] 0 [  ] 35 [  ] 5 
[  ] 0 [  ] 23 [  ] 5 

[  ] [ 2nd ] [ PLOT ] 5 
[ ALPHA ] [  ] 5  

[  ] 

[ 2nd ] [ X Y ] 

[ 2nd ] [ X Y ] [ 2nd ] 
[ PLOT ] 5 [ ALPHA ] [  ] 10 
[  ] 

[ 2nd ] [ LINE ] [  ] 

[ 2nd ] [ PLOT ] 15 [ ALPHA ] 
[  ] 15 [  ] [ 2nd ] 
[ LINE ] [  ] 

[ 2nd ] [ PLOT ] 18 [ ALPHA ] 
[  ] 15 [  ] [  ] 
[  ] [  ] [  ] [  ] 
[  ] [  ] [  ] 

[ 2nd ] [ LINE ] [  ] 
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 Example 43 

� Enter the data: X LSL = 2, X USL = 13, X 1 = 3, FREQ 1 = 2, X 2 = 5 , FREQ 2 
= 9, X 3 = 12, FREQ 3 = 7, then find = 7.5, Sx = 3.745585637, 
Cax = 0 , and Cpx = 0.503655401 

[ MODE ] 1 

[  ] [ DATA ] [  ] 

[  ] 2 

[  ] 13 [  ] 

[ DATA ] 

[  ] 3 

[  ] 2 

[  ] 5 [  ] 9 [  ] 12 
[  ] 7 
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[ 2nd ] [ STATVAR ] 

[  ] 

[  ] 

[ Graph ] [  ] 

[  ] 

[ 2nd ] [ STATVAR ] [  ] 
[  ] [  ] [  ] 

[  ] 

[ Graph ] 

[  ] 
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[ 2nd ] [ STATVAR ] [ Graph ] 
[  ] [  ] 

[  ] 

 Example 44 

� Enter the data : X LSL = 2, X USL = 8, Y LSL = 3, Y USL = 9, X 1 = 3, Y 1 = 4, X 
2 = 5 , Y 2 = 7, X 3 = 7, Y 3 = 6, then find  = 5, Sx = 2, Cax = 
0, Cay = 0.111111111 

[ MODE ] 1 [  ] 

[  ] [ DATA ] [  ] 

[  ] 2 [  ] 8 [  ] 3 
[  ] 9 [  ] 

[ DATA ] 

[  ] 3 [  ] 4 [  ] 5 
[  ] 7 [  ] 7 [  ] 6 
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[ 2nd ] [ STATVAR ] [  ] 

[  ] 

[  ] [  ] [  ] [  ] 
[  ] [  ] [  ] [  ] 

[  ] 

[ Graph ] 

 Example 45 

� In the data in Example 44, change Y 1 = 4 to Y 1 = 9 and X 2 = 5 to  X 
2 = 8, then find Sx = 2.645751311 

[ DATA ] 

[  ] [  ] 9 

[  ] 8 
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[ 2nd ] [ STATVAR ] [  ] 
[  ] 

Example 46 

� Enter the data : a x = 2, X 1 = 3, FREQ 1 = 2, X 2 = 5 , FREQ 2 = 9,  X 3 

= 12, FREQ3 = 7, then find t = –1.510966203, P( t ) = 0.0654, 

Q( t ) = 0.4346, R ( t ) =0.9346 

[ MODE ] 1 

[  ] [ DATA ] [  ] 
[  ] 

[  ] 2 [  ] 

[ DATA ] [  ] 3 [  ] 2 
[  ] 5 [  ] 9 [  ] 12 
[  ] 7 

[ 2nd ] [ STATVAR ] [  ] 

[  ] 
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[  ] 

[  ] 

 Example 47 

� Given the following data, use linear regression to estimate x ’ =? for y 

=573 and y ’= ? for x = 19 

 

X 15 17 21 28 

Y 451 475 525 678 

 

[ MODE ] 1 [  ] 

[  ] 

[  ] [ DATA ] 

[  ] 15 [  ] 451 [  ] 
17 [  ] 475 [  ] 21 [  ] 
525 [  ] 28 [  ] 678 
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[ 2 nd ] [ STATVAR ] [ Graph ] 

[ 2nd ] [ STATVAR ] [  ] 
[  ] [  ] 

[  ] 573 [  ] 

[ 2nd ] [ STATVAR ] [  ] 
[  ] [  ] [  ] 

[  ] 19 [  ] 

 Example 48 

� Given the following data, use quadratic regression to estimate y ’ = ? for 
x = 58 and x ’ =? for y =143 
 

X 57 61 67 

Y 101 117 155 

 

[ MODE ] 1 [  ] 
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[  ] [  ] [  ] 

[  ] [ DATA ] 

[  ] 57 [  ] 101 [  ] 
61 [  ] 117 [  ] 67 
[  ]155 

[ 2nd ] [ STATVAR ] [ Graph ] 

[ 2 nd ] [ STATVAR ] [  ] 
[  ] [  ] 

[  ] 143 [  ] 

[  ] 

[ 2nd ] [ STATVAR ] [  ] 
[  ] [  ] [  ] 
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[  ] 58 [  ] 

 Example 49 

� 31 10 = 1F16 = 11111 2 = 37 8 

[ MODE ] 2 

31 [  ] 

[ dhbo ] 

[  ] 

[  ] 

[  ] 

 Example 50 
� 4777 10  = 1001010101001 2 
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[ MODE ] 2 [ dhbo ] [  ] 
[  ] 

[  ] [ dhbo ] [  ] [  ]

[  ] 4777 [  ] 

[  ] 

[  ] 

[  ] 

 Example 51 
� What is the negative of 3A 16? Ans : FFFFFFC6 

[ MODE ] 2 [ dhbo ] [  ] 

[  ] [ NEG ] 3 [ /A ] 
[  ] 

 Example 52 
� 1234 10 + 1EF 16  24 8  = 2352 8 = 1258 10 
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[ MODE ] 2 [ dhbo ] [  ] 

[  ] [ dhbo ] [  ] [  ]

[  ] 1234 [ + ] 

[ dhbo ] [  ] [  ] [  ] 

[  ] 1[ IE ] [ IF ] [  ] 

[ dhbo ] [  ] [  ] 

[  ] 24 

[  ] 

[ dhbo ] [  ] [  ] [  ]  

 Example 53 
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� 1010 2 AND ( A 16 OR 7 16 ) = 1010 2 = 10 10 

 [ MODE ] 2 [ dhbo ] [  ] 
[  ]  

[  ] [ dhbo ] [  ] [  ] 
[  ] [  ] 

[  ] 1010 [ AND ] [ (  ) ]

[ dhbo ] [  ] [  ] [  ] 

[  ] [ /A ] [ OR ] [ dhbo ] 
[  ] [  ] [  ] 

[  ] 7 [  ] 

[ dhbo ] [  ] [  ] 

Example 54 
� Create a program to perform arithmetic calculation with complex 

numbers 
Z 1 = A + B i,  Z 2 = C + D i 
• Sum : Z 1 + Z 2 = ( A + B ) + ( C + D ) i 
• Difference : Z 1 – Z 2 = ( A – B ) + ( C – D ) i 
• Product : Z 1 × Z 2 = E + F i = ( AC – BD ) + ( AD + BC ) i 
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• Quotient : Z 1 Z 2 = E + F i =  

 

RUN 

� When the message “1 : + ”, “ 2 : – ”, “ 3 : × ”, “ 4 : / ” appears on the 
display, you can input a value for  “ O ” that corresponds to  
the type of operation you want to performed, as follows: 
1 for Z 1 + Z 2  2 for Z 1 – Z 2   
3 for Z 1 × Z 2  4 for Z 1  Z 2 

(1)  
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[  ] ( 5 Seconds ) 

 

[  ] 1 

[  ] 17 [  ]  
5 [  ] [ ( – ) ] 3 [  ] 
14 

[  ]  

(2)  

[  ] ( 5 Seconds ) 

 

[  ] 2 
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[  ] 10 [  ]  
13 [  ] 6 [  ] 17 

[  ]  

(3)  

[  ] ( 5 Seconds ) 

 

[  ] 3 

[  ] 2 [  ]  
[ ( – ) ] 5 [  ] 11 
[  ] 17 

[  ]  

(4)  
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[  ] ( 5 Seconds ) 

 

[  ] 4 

[  ] 6 [  ] 5 
[  ] [ ( – ) ] 3 [  ] 4

[  ]  

 Example 55 
� Create a program to determine solutions to the quadratic equation A X 

2 + B X + C = 0, D = B 2  – 4AC  

1) D > 0  , ,  

2) D = 0   

3) D < 0  ,  ,  
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RUN 

(1) 2 X 2 – 7 X + 5 = 0  X 1 = 2.5 , X 2 = 1 

[  ] 

2 [  ] [ ( – ) ] ] 7 
[  ] 5 

[  ] 

(2) 25 X 2 – 70 X + 49 = 0  X = 1.4 

[  ] 

25 [  ] [ ( – ) ] 
70[  ] 49 



 

E-75 

[  ] 

(3) X 2 + 2 X + 5 = 0  X 1 = – 1 + 2 i , X 2 = – 1 – 2 i 

[  ] 

1 [  ] 2 [  ] 5   

[  ] 

[  ] [  ] [  ] [  ] 
[  ] [  ] [  ] [  ] 
[  ] [  ] [  ] [  ] 
[  ] [  ] [ ] [ ]

 Example 56 
� Create a program to generate a common difference sequence ( A : First 

item, D : common difference, N : number ) 
Sum : S ( N ) = A+(A+D)+(A+2D)+(A+3D)+...          

=  

Nth item : A ( N ) = A + ( N – 1 ) D 
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RUN 

� When the message “ 1: A(N), 2 :S(N) ” appears on the display, you can 
input a “ P ” value to specify the type of operation to be 
performed: 
1 for A(N)                      2 for S(N) 

32 (1) A = 3 , D = 2, N = 4  A(N) = A (4) = 9 

[  ] ( 5 Seconds ) 

 

1 [  ] 3 [  ]  
2 [  ] 4 

[  ] 
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(2) A = 3 , D = 2, N = 12  S (N) = S (12) = 168 

[  ] ( 5 Seconds ) 

 

2 [  ] 3 [  ]  
2 [  ] 12 

[  ] 

Example 57 
� Create a program to generate a common ratio sequence ( A : First item, 

R : common ratio, N : number ) 
Sum : S ( N ) = A + AR + AR 2 + AR3.... 

1) R  1   

2) R = 1  A ( N ) = AR ( N –  1 )  

Nth item : A ( N ) = A ( N –  1 ) 
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RUN 

� When the message “ 1: A(N), 2 :S(N) ” appears on the display, you can 
input a “ P ” value to specify the type of operation to be 
performed: 
1 for A(N)                      2 for S(N) 

(1) A = 5 , R = 4, N = 7  A (N) = A (7) = 20480 

[  ] ( 5 Seconds ) 

 

1 [  ] 5 [  ]  
4 [  ] 7 
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[  ] 

(2) A = 5 , R = 4, N = 9  S (N) = S (9) = 436905 

[  ] ( 5 Seconds ) 

 

2 [  ] 5 [  ]  
4 [  ] 9 

[  ] 

(3) A = 7 ,R = 1, N = 14  S (N) = S (14) = 98 

[  ] ( 5 Seconds ) 

 

2 [  ] 7 [  ]  
1 [  ] 14 
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[  ] 

  

 

Example 58 
� Create a program to determine the solutions for linear equations of the 

form: 

 

 

RUN 

 

[  ]  
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4 

[  ] [ ( – ) ] 1 [  ] 
30 [  ] 5 [  ] 9 
[  ] 17 

[  ] 

 Example 59 

� Create three subroutines to store the following formulas and then use the 
GOSUB-PROG command to write a mainroutine to execute the 
subroutines.  
Subroutine 1 : CHARGE = N × 3 
Subroutine 2 : POWER = I  A 
Subroutine 3 : VOLTAGE = I  ( B × Q × A ) 
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RUN 

� N = 1.5, I = 486, A = 2  CHARGE = 4.5, POWER = 243, 
VOLTAGE = 2 

[  ] 

1.5 

[  ] ( 5 Seconds ) 
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486 

[  ] 2 

[  ] ( 5 Seconds ) 

 

 Example 60 
� Create a program that graphs Y = –  and Y = 2 X with the 

following range settings: X min = –3.4, X max = 3.4, X scl = 1, Y 
min = –3, Y max = 3, Y scl = 1 

 

 

 

RUN 

[  ] 



 

E-84 

[ G  T ] 

 Example 61 

� Use a  FOR loop to calculate 1 + 6 = ? , 1 + 5 = ? 1 + 4 = ?, 2 + 6 
= ?, 2 + 5 = ? 2 + 4 = ? 

 

RUN 

[  ] 
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 Example 62 
� Set the program type to “BaseN” and evaluate 

ANS = 1010 2 AND ( Y OR 7 16 )   

 

(1) If Y = /A 16 , Ans = 10 10 

[  ] 

[ dhbo ] [  ] [  ] [  ] 

[  ] / A 

[  ] 

 

 

(2) If Y =11011 8 , Ans = 1010 2 

EDIT 



 

E-86 

[  ] 

[  ] [ dhbo ] [  ] [  ]

[  ] 

RUN 

[  ] 

[ dhbo ] [  ] [  ] 

[  ] 11011 

[  ] 

 Example 63 
� Create a program to evaluate the following, and insert a display result 

command (  ) to check the content of a memory variable  
B = log ( A + 90 ), C = 13 × A, D = 51  ( A × B ) 
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RUN 

� A = 10  C = 130 , D = 2.55 

[  ] 

10 

[  ] 

[ 2nd ] [ RCL ] [  ] [  ] 

[ CL/ESC ] [  ] 

 

 
 


